class 7HW 19/07/2020

Science
1. Draw a well labelled of clinical thermometer.
2. Why the stem of clinical thermometer has a prismatic structure?
3. How many types of liquid thermometer are there?
4.Write the difference between clinical and laboratory thermometer.

5. Name the thermometer in which no liquid is used.
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Reading

A. Based on your reading answer the following questions:

| found a four leaf clover

And was pleased with my find.
But with time to think it over

| have entirely changed my mind.
| concealed it in my pocket,

Safe inside a paper pad,

Soon much swifter than a rocket

My good fortune turned to bad.

| broke my brand new glasses,
And | could not find my keys,

| stepped in spoilt molasses
And was stung by angry bees.

When the kitten ripped the curtain,



And the toast burst into flame.
| was absolutely certain

that the clover was to blame .

| buried it discreetly;

In the middle of a field.

Now my luck has changed completely,
And my wounds have almost healed.
If | ever find another,

| will simply let it be,

Or | will give it to my

brother,

He deserves it more than me.

. Tick the correct option:

a) What is the rhyme scheme in first stanza?
A)AABBCCDD
B)ABABCDCD
C)ABCBABCB

D)AABBAABB

b) How is the speaker feeling in first stanza?
A) confident

B) excited

C) depressed

D) confused



c) What is the best meaning of discreetly as used in stanza 4°?
A) not likely to be seen by many people.

B) showing good judgement.

C) respectful of others privacy.

D) humble.

d) What does the speaker plant to do if he ever finds another four leaf clover?
A) pick it up for good luck.

B) pick it up and sell it to his friends.

C) keep it for a day to need good luck.

D) simply let it be or give it to his brother.

1) Fill in these blanks:

a) The poet's fortune change __ than a rocket.
b) The poet blamed for his bad fortune.
c) stung the poet.

d) Molasses means .

Answers

1. Tick the correct option:
a)B
b)B

c)A



d)D

) Fill in these blanks:

a)swifter.
b) the four leaf clover.
c) angry bees.

d) a dark syrup produced during the refining of sugar

Subject - Maths

Q:- 6. What number should be subtracted from 30 to get 23.709.

(Ans: 6.291)

Q:- 7. Sheetal's age is 2/3 of the age of her brother.If brother's age is 45 years, how old is Sheetal?
Q:- 8. Arrange in ascending order

7/9,12/5,1/21,5/6

Q:-9 Kareena has Rs. 45.65.She gets Rs. 15.8 from her father.She spent Rs. 39.5 on lunch.How much balance is she left
with?

Q:-10 Divide:
(a)0.64 by 0.4
(b)0.0108 by 0.012

(c) 2.13204 by 3.26

Social Science

Geo-L-2 Earth's Interior
1-Complete the book exercise and write in your fair/c.w copy.
2- Civic L-1 complete the excercise in book, write in fair copy.

Note- write all your work with good handwriting, and neat work



